PARTS LIST

ITEM[ QTY [ PART NO. PART DESCRIPTION LENGTH | UNITWT. NET WT
1 | 6 | XLWRM RING MOUNT WELDMENT 68.16 408.96
2 | 3 Pa72 4-1/2" X 72" SCH. 40 GALVANIZED PIPE 72in 64.89 194.68
3 | 12 | x-214130 BENT PLATE V-CLAMP 125/8in 11.43 137.16
4 | 24 | G58R-14 5/8" x 14" THREADED ROD (HDG.) 14in 0.40 9.57
5 | 18 | G58R-48 5/8" x 48" THREADED ROD (HDG.) 48 in 55 9.90
6 | 18 | G58R-24 5/8" x 24" THREADED ROD (HDG.) 24in 55 9.90
7 | 36 | AS8FW 5/8" HDG A325 FLATWASHER 03 1.08
FOR POLES 12" TO 45" DIA. 8 [108| G58LW 5/8" HDG LOCKWASHER 0.03 3.24
. 9 [108| AsSNUT 5/8" HDG A325 HEX NUT 0.13 14.04
TOTALWT.#| 788.53
12"
(MIN)
72" PIPE
511/2"
(TYP)
93/4"
(REF)
°
o
o
102"
(MIN)
SECTION A-A
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: MONOPOLE SECTOR FRAME l sEngin;gll—ing t\tlar:a. GI’A on
SAWED, SHEARED AND GAS CUT EDGES (% 0.030") upport Team:  Los Angeles,
DRILLED AND GAS CUT HOLES (£0.030") - NO CONING OF HOLES ATTACHMENT ASSEMBLY . 1-888-753-7446  Plymouth, IN
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont WP coVANY Dallas, TX
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING ﬂaoao'? CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (£ 0.060") KC8  3/18/2016 | 3RD PARTY MSFAA o3
mgmam’mﬁ: INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
-
INDUSTRIES AND GONSIDERED ATRADE SECRET. o | 01|01 CUSTOMER |[BMC  5/2/2016 MSFAA




